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QUESTION 1

What is the value of b in the equation: A. 1 

B. 4 

C. 8 

D. -1 

Correct Answer: A 

 

QUESTION 2

Referring to the graphic, what is the meaning of this statement? "Median household income was roughly $51,000." 

A. The average of all the reported household incomes was $51,000. 

B. Most of the households had an income of $51,000. 
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C. Half of the households reported an income below this level and half reported an income above this level. 

D. The average household income was $51,000 less than the maximum household income. 

Correct Answer: C 

 

QUESTION 3

Yesterday, Fatima trained for 6.25 hours, riding her bicycle under various conditions. During her workout, she managed
to ride 114.75 miles total. 

What was her average speed during this training session? 

A. 18.36 miles per hour 

B. 19.61 miles per hour 

C. 21.00 miles per hour 

D. 18.22 miles per hour 

Correct Answer: A 

 

QUESTION 4

The figure shows two types of data distribution. 

The distribution represented by graph B is best described as __________. 

A. skewed right 

B. symmetric 

C. bimodal 

D. skewed left 

Correct Answer: A 
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QUESTION 5

In the figure, the lines L3 and L4 have the same slope. 

Which of the following terms best describes their relationship? 

A. transversals 

B. parallel 

C. perpendicular 

D. There is no relationship between these lines. 

Correct Answer: B 
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